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0 9=t 5,040

0 A& Z&HI S AlH] 6,300

0 Xt&F&EHH| 15,000
03 SHAIEHHI 2,000 2,000 0

0 ZZHAX S 2,000
202 044l 39,000 39,000 0
01 2Wobl 6,600 6,600 0

0 2204t 500,000& = 12& 6,000

0 S&EY Ol 50,000& = 128 600
02 EHOAH| 32,400 32,400 0

0 80 MAISEOAH 180,000& * 12& * 159 32,400
oFF O AL EHI 101,000 111,000 A 10,000
FOI=2A ALY 101,000 111,000 10,000
A2 FO=JAAY 101,000 111,000 A 10,000
401 AIEHIZ 20| 101,000 111,000 A 10,000
01 Al&HI 100,000 110,000 A 10,000

0 A= HH£=2 HH|Z2AHL=120m) 20,000

0 8% =2 JHE Z2AHL=200m, B=3m) 20,000

0 2H HH4=2 EHH|ZAHL=120m) 20,000

0 &4l HH4=2 A HIZ2AH(L=120m) 20,000

0 A otz AH|Z2AHA =1=40m, H=3m) 20,000
03 Al&20HYI 1,000 1,000 0

0 AL FOUSAAISE AIE 20| 1,000
HESHAY| (LAH) 30,350 30,350 0
oleddy|(otakd) 10,200 10,200 0
Pled Y| (otakd) 10,200 10,200 0
203 PR =&l 10,200 10,200 0
01 JI22HE =8| 6,600 6,600 0

0 & 6,600
02 HJAIMNMH =AY 600 600 0

0 & A& Z 40,000& = 159 600
04 EANSHERE=EH| 3,000 3,000 0

0 2AM2Y 250,000& = 12& 3,000
2 (22H) 20, 150 20,150 0
Jl23H(24eH) 20,150 20,150 0
201 dBt23 | 20,150 20,150 0
01 At22telyl 20, 150 20,150 0

0 et=2H| 11,150
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